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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence,

Then mark your choice on your answer sheet.

She's not very ------- -~ in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the -------- -- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial --------- - on the company are preventing them from employing new staff.

1) resolutions 2) deductions | 3) approaches 4) constraints

The pattern ------e-e- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be ——-—- next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in---------- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) -——-—-- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had -—------- herself.

1) knitted 2) knitted it 3) been knitted 4) been knitted it

The teacher suggested that Ali --——------ the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to ---------- :

1) refuse 2) refusing 3) refused 4) be refused

Part : Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) --------- - in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1)to 2)on 3)in | 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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r PART C: Readin Comprehension

| Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).
Then mark it on your answer sheet. - _
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PASSAGE 1: | :

The alternations of voiced and voiceless fricatives go back (with some simplification) to a stage
of English after a sound change of fricative voicing, according to which the fricatives were voiced
between voiced phones, especially vowels. The phonemes which were voiceless fricatives at the
end of words were voiced when the vowel of a suffix followed, as it did in plurals of nouns and in
many verbs and adjectives. At that time in the history of English there was thus no contrast between
voiced and voiceless fricatives, which were in complementary distribution and were allophones.

The modern pronunciations and spellings still to some extent suggest this distribution of
fricatives. Some words, except for the plural nouns, are always spelled and sometimes pronounced
with a vowel after the fricative (houses, bathe, southern), while other words are sometimes spelled
but never pronounced with a final vowel.

Borrowings from French during the Middle English period included words in which voiced
fricatives occurred other than between vowels, for example French verai ‘true’, which was
borrowed and broadened in meaning as 'very'. Also, certain unstressed vowels began to be omitted,
with the result that complementarity between voiced and voiceless fricatives was lost, and these
came to be contrastive - corresponding to meaning differences seen today in minimal pairs like
ferry' (Old English) and 'very' (French), and 'ice' /ajs/ (singular) and eyes' /ajz/ (plural). At this
stage voiced and voiceless fricatives are different phonemes.”

The old pronunciations, in which voiced and voiceless fricatives appeared in different
allomorphs of a morpheme, survived as the alternations exemplified in the words above. Words
which have entered the language since the time of the rule of fricative voicing, such as 'chief (plural
chiefs), 'toss' (tosses), and 'nice' (adverb nicely), don’t have the voiced/voiceless alternation.

According te the passage, voiced and unvoiced fricatives —------- during the Old English
period.

1) were phonemes 2) were contrastive 3) were not allaphones 4) were not contrastive
When did the alternations of voiced and unvoiced fricatives occur in the history of the English
language? They occurred when the fricative became voiced between =------ -,

1) vowels 2) consonants

3) voiced sounds 4) consonants and voiced sounds

According to the passage, the modern pronunciations and spellings do not show that voiced
and voiceless fricatives

1) were allaphones 2) were not contrastive

3) were contfrastive in the Old English 4) were in complementary distribution
Borrowings from French caused fricatives to occur between -

1) vowels not other sounds 2) other sounds than vowels

3) voiceless sounds 4) voiced sounds

The passage says that the words borrowed ------—-- the time of fricative voicing ------=v-- the
voiced/voiceless alternation. _

1) after, do have 2) before, do have 3) after, donot have  4) before, do not have
PASSAGE 2:

The flood of French words into English brought with it lots of words with their derivational
affixes attached, including -able, -ment, dis-, and re-, which, because the words they were part of
became accepted within the English lexicon, eventually themselves became recognized within
English grammar, and were extended for use with English words, as in drinkable, settlement,
dislike, and rebuild.

We get new derivational affixes also by compounding, as in street-wise “wise in the ways of the
street’ and vacation-wise ‘as for vacation’. Such is the source of —ly coming from Middle English
lic “like’ (from Old English gelic), a process which repeats itself today in compounds like child-like
and quick-like (whose novelty is evident in their being written with the hyphen). Even if the
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suffixes —ohlic ‘addiction’ and —gate ‘scandal concerning’ are short-lived in English, they clearly
illustrate the possibility also of getting derivational affixes by backformation.

In an opposite change, some Old English derivational affixes dropped out of use, such as a- ‘in,
on’ (roughly), which survives, now unrecognized as a prefix, in words including awake, arise, and
asleep. Another Old English prefix, for- ‘very’, survives unrecognized in words including forgive,
forbid, and forlorn. Still fading from the language is the French-origin suffix -age as in bondage
freightage and equipage; the latter two have now been replaced by freight and equipment.

It is a characteristic of grammatical morphemes that new ones appear rarely. Loss of inflections
(bound grammatical morphemes) is often the result of competing patterns, in which the competition
is resolved by regularization, according to which irregular forms of less frequent and, sometimes,
later-learned morphemes are replaced by regular forms of more frequent and earlier learned
morphemes.

According to the passage, “settle” is --—--—--- and the suffix “-ment” is -~
1) English, English ~ 2) English , French 3) French, English 4) French, French
The suffix “-ly” coming from Middle English “lic” is derived through --—-—--—-.
1) compounding like ‘street-wise’ and ‘vacation-wise’

2) compounding like ‘child-like’ and ‘quick-like’

3) extension like ‘street-wise’ and ‘vacation-wise’

4) extension like “child-like’ and ‘quick-like’

The suffixes *-oholic’ and '-gate’ in English show that -—----m,

1) short-living of affixes in English is possible

2) short-living of affixes in English is not possible

3) deriving affixes by backformation is possible -

4) deriving affixes by backformation is not possible

Some Old English affixes like “a-* meaning ‘in, on’ --=--mm-m-.
1) still exists but not identified as a prefix 2) doesn’t exist but identified as a prefix
3) doesn’t exist but recognized as a suffix 4) still exists but not recognized as a suffix

The passage concludes that —-------- .

1) functional affixes hardly emerge

2) functional affixes hardly compete

3) irregular forms are replaced by regular forms

4) forms of less frequent are replaced by forms of more frequent

PASSAGE 3:

Language change is systematic as well as constant and pervasive. It seeks out and follows
patterns, with the result that after a change has been effective for sufficient time, all utterances
within its pattern are affected. :

Even lexical change, which by definition affects one morpheme at a time, shows general
tendencies at any point of history. We note that Middle English borrowed French vocabulary of the
cultural realms in which the French were dominant. Vocabulary is especially affected in realms in
which technological and cultural change take place. Thus new words are especially being created
for English nowadays in the fields of computer science and robotics.

 Phonetic change, like Grimm’s Law and the English Great Vowel Shift, is regular: it tends, with
time, to be completely exceptionless. Morphological change is regular in its own way: typically
analogical and simplifying, with the spread of productive rules at the expense of unproductive rules.

With sufficient passage of time, analogical change will completely transform a morphological
system. Today, for example, only the third-person-singular subject-suffix of the present tense
spelled -s (descended from Old English —ep) survives from the extensive Old English inflectional
suffixes of subject-verb agreement. Old English had four forms of the present tense verb. Relics of
the 2nd and 3rd person singulars -st and p survive in Biblical language, as in 'thou goest' and 'thus
saith the Lord'. -

Since language change is systematic, the result of language change is always a modified and,
eventually, new system. Even when its parts are thoroughly changed the systematic relationships of
language are preserved, and no language has ever been known to break down or to become at all
dysfunctional as the result of change.
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26- It is not true that language change is -—--—- -
1) arbitrary 2) extensive 3) logical 4) prevalent
27- The fact that new words are being created for English nowadays in ---—---— shows that lexical
change---------- general tendencies at any point of history.
1) the cultural realms, has 2) the cultural realms, does unE have
3) computer science and robotics, has 4) computer science and robotics, does not have
28- What does ‘it’ in line 9 - refer to?
1) Grimm’s Law 2) Phonetic change .
3) The previous paragraph 4) English Great Vowel Shift
29. The examples given in paragraph 4 shows the complete change of -- suffixes in ------——-.
1) derivational, English today 2) derivational, Biblical language
3) inflectional, Biblical language 4) inflectional, English today
30- According to the passage, the result of language change is system.
1) always a dysfunctional 2) always an operational
3) rarely a dysfunctional 4) rarely an operational
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